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Q. SHSTF (X2-2xy+y2)-z2 = UIAEUE &-
Q. The [factors of the expression (x2-

) (x+y-2z)
x/(f+y+2)\
(b) (x-y-z) (x-
y+z)

L
e

(X+y-z)
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Q. K 3T 919 AT FHIoT0 o9 [0
THTHCT X-Ky=2, 3x+2y=5 T
AT & al-
Q. Find the value of K for which the
eq% X- qu 3x+@y i@as a
unigue . solutian, ; ) (a) K+2/3
;‘\;\ o) (b) K*(-
———\ *\F@ 2)/3
4 (c) K= 2/3

7 7 il Q\lbgﬁ(d
— ) &= (;2 2)/3
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Q. X T T8 HTH 1 E—I(\IOMUI 10(x+6)+§>(x-3)=5(5x-4)

T HIY FLAT 5, qg [ THIFHLT T AT HIY FLAT -

Q. The value of x which satisfies the equation
10(x+6)+8(x-3§=5(5x-4) also satisfies the following

owatete (1780 =5(54) Jadll o,

g S ”:\? S%-9 é;%%f)%(x-

4

!@o (C) 5(X-5)=>Z(X-

I — 3)+5

5
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Q. 11x-16y+7a ITH F<d & o7 5y-13x-8a H &
FAT HETAT AT g ?

Q. W be btr Cted from 5y 13x 8a
to ge 6( %ﬁ 1in- 1631% ) 21y-5x-a
) ) 21y-24x-
‘S_ﬁ*!?/” Jﬂ%@ 15a
- 7 (C) 24x-
21 yi 24>( 21y+a

(d)
6x+21y+15
a
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(et (o) e s
' (x+2)(x—2z)y? '
(xz +y2 _22)2_(x2_y2_22)2

(xt+2)(x=2)y2
A

IS equal




PV 2TST CTET/ STET 2023

x2+3«/2 +4 %
IUBIEES
Q efac‘f&r%o £3+/2

“““‘---\__, (x+¢2)

[UPTET]
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Q. Tt x=3++8, ar x3+(1/x3)
FTHE &

Q. If x= +:«/§ value of
(x3+1/>23?§ is(\ 411?@

A\ N 23*4 3)

(1)
2 195

3\

\ (4)

—J3

—
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Q. zr%5(3x+4) 8(6x+7 )=9x-8 ¢, T

T W1 T 272

Q. |f5j§I X+4)- (6X+7 )=9x-8, then what is the
ot Pt)i@(‘Bé = 9x%-R

(X%-2x+1)

(d)
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Q. ®|‘§C; X3-6X2@1 1X-6 2h NMBIERS %_

Q. The factors of thepolynomial x3-
(=D
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Q. afe
Q. If

3

3x—2 2xX+3

= x + 2 Bl a1 A 87

2

E

—2  2x+3 )
ﬁ? l_ x2+ 7: hen the value of

5x—2 5
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Q. 5,a‘r3x2+(12x@—1oh| HT AT T2

Q. If 3 —=5, then what will be the value of
3x% + (124%)~17?
z%n + =
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. 25-p*-q*>2pq FT [OHETE
-2
Q. The factorization of 25
st P—rQ\/-t-QZFOl/ (a) (5+p-q) (5-

p+q)

N o LA} (b) (5+p-q) (5-
<57LP+\/> (b P Q\/) %5+p+q) (-

p+q)
(d) (5+p+q) (5-
p-q)
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Q. FfE 22 4 2 = Z22 4 4 AT 8x+5 FT T &

3 4
Q. If =~ +2 ==+ 4x then find the value
of 8x+5.
(a) 13
(b) 6
(c) 7
(






